I> | CZE | DAN | DEU | ENG | FIN | FRA | HUN | NOR | POL | ROM | RUS | SLO | SPA | SWE |

ASSEMBLY INSTRUCTIONS

SKANDIA
Bl EVATOR SE140, SEI 35/14, SEI/SEH 50/18, SEI/SEH 50/23

ZTMA156455 2015-01-01



CZE

V pokynech k sestavé elevatoru/dopravniku najdete
informace o kontrole zboZi a o vyznamu bezpecnostnich
informaci a nalepek.

Pokyny k diagnostice a provadéni Gdrzby najdete v
pokynech k provadéni (drzby elevatoru/dopravniku.

Maijitel dopravniho zafizeni je odpovédny za to, aby
montéfri, elektrikari, servisni technici a inZzenyfi méli
pokyny k montazi vzdy k dispozici.

A VAROVANI!

¢ P¥i provadéni montaze, elektrického zapojovani,
Gdrzby a béhem provozu zafizeni dopravniku
pouZivejte ochranné rukavice, helmu, boty s
ocelovou Spickou, ochranu sluchu, bezpecnostni
bryle a reflexni vestu.

* NezZ zaCnete s montazi, elektrickym zapojovanim
nebo Udrzbou, stroj vypnéte a odpojte elektrické
napajeni.

¢ VSechna elektricka zafizeni musi pripojovat
kvalifikovany elektrikar. Viz samostatné pokyny
se smeéry napojeni elektroniky.

Nespoustéjte stroj, pokud stfecha, kryty, vika,
ochrany a pfipojky nejsou namontovany tak, aby
se daly otevfit pouze pomoci nastroje.

DEU

Die Aufbauanweisungen des Elevators/
Trogkettenforderers lesen, um Richtlinien zur
Durchfiihrung der Guterkontrolle und zur Auslegung
der Sicherheitsinformationen / Sicherheitsschilder zu
erhalten.

Die Wartungsanweisungen des Elevators/
Trogkettenforderers lesen, um Anweisungen zur Wartung
und Stérungsbehebung zu erhalten.

Der Eigentumer der Transportanlage ist dafur
verantwortlich, dass diese Aufbauanweisungen den
befassten Schlossern, Elektrikern, Wartungstechnikern
und Konstruktionsmechanikern stets zur Verfugung
steht.

A WARNUNG!

* FUr Aufbau, elektrischen Anschluss, Wartung
und Betrieb von Trogkettenférdereranlagen
Schutzhandschuhe, Helm, Sicherheitsschuhe,
Gehdrschutz, Schutzbrille und Warnweste
verwenden.

» Vor der Durchfiihrung von Aufbau-, elektrischen
Anschluss- und Wartungsarbeiten die Maschine
anhalten und die Stromversorgung ausschalten.

* Alle elektrischen Gerate durfen nur von einem
qualifizierten Elektrofachmann angeschlossen
werden. Siehe die getrennten Anweisungen zum
Anschliefien von Elektronik.

Die Maschine nur dann anlassen, wenn Deckel,
Luken, Abdeckungen, Schutzvorrichtungen und
Verbindungen so eingebaut sind, dass sie nur mit

Werkzeugen gedffnet werden kénnen.

DAN

Lees elevatorens/transportgrens monteringsvejledning
for anvisninger om, hvordan godskontrol skal foretages
og hvordan sikkerhedsinformationer/sikkerhedsskilte
skal tolkes.

Lees elevatorens/transportgrens plejeanvisning, far
instruktioner om vedligeholdelse og fejlsggning.

Ejeren af transportudstyret er ansvarlig for, at

denne monteringsvejledning altid er tilgaengelig for
ansvarlige montgrer, elektrikere, vedligeholdelses- og
driftsteknikere.

A ADVARSEL!

* Beer beskyttelseshandsker, byggehjelm, sko
med stalkappe, hareveern, beskyttelsesbriller
samt signalfarvet refleksvest ved montering,
eltilslutning, vedligeholdelse og drift af
transportudstyret.

* Stop maskinen og afbryd strammen, far
der foretages nogen form for monterings-,
eltilslutnings- eller vedligeholdelsesarbejde.

Elektrisk udstyr skal tilsluttes af en behgrigt
uddannet elektriker. For instruktioner henvises til
den separate tilslutningsvejledning for elektronik.

Maskinen ma ikke startes, uden at tag, luger,
tragte, veern og tilslutninger er monteret pa en
sadan made, at de kun kan abnes med veerktgj.

ENG

Read the elevator/conveyor assembly instructions for
guidance on how to carry out goods control and how
safety information/safety decals are to be interpreted.

Read the elevator/conveyor maintenance instructions for
directions on maintenance and troubleshooting.

The owner of the transport equipment is responsible for
these assembly instructions always being available to
the fitters, electricians, maintenance technicians and
engineering technicians concerned.

A WARNING!

¢ Use protective gloves, helmet, steel-toed boots,
ear defenders, protective goggles and high-vis
vest when carrying out assembly, electrical
connection, maintenance and operation of
conveyor equipment.

* Stop the machinery and turn off electric power
before attempting any type of assembly, electrical
connection or maintenance work.

* All electrical equipment is to be connected by a

qualified electrician. See separate connecting
directions for electronics.

* Do not start the machinery without the lid,
hatches, covers, guards and connections fitted in

such a way they can only be opened with tools.

SKANDIA ELEVATOR



FIN

Lue elevaattorin/kuljettimen asennusohjeesta, kuinka
tavarantarkastus tulee tehda ja kuinka turvatiedot/
turvatarrat tulee tulkita.

Lue elevaattorin/kuljettimen hoito-ohjeesta ohjeet
huoltoa ja vianetsintaa varten.

Kuljetinlaitteen omistaja vastaa siita, etta tama
asennusohje on aina vastuussa olevien asentajien,
sahkbasentajien, huolto- ja kayttéteknikoiden saatavilla.

A VAROITUS!

» Kayta suojahansikkaita, rakennuskyparaa,
varvassuojattuja turvajalkineita, kuulosuojaimia,
suojalaseja seka huomiota herattavan varisia
heijastinliiveja kuljetinlaitteen asennuksen,
sahkokytkennan, huollon ja kayton aikana.

¢ Pysayta kone ja katkaise virta ennen minkaan
tyyppisen asennus-, kytkenta- tai huoltotyon
suorittamista.

* Ammattitaitoisen sahkdéasentajan tulee suorittaa
sahkolaitteiden kytkennat. Katso ohjeita
erillisesta elektroniikan kytkentaohjeesta.

Konetta ei saa kaynnistaa ilman etta katto,
luukut, yhteet ja kytkennat on asennettu siten,
ettd ne voidaan avata vain ty6kaluilla.

HUN

Olvassa el a felvond/lancos szallité dsszeszerelési
Gtmutatéjat, és ismerje meg, hogyan kell elvégezni
a termény ellendérzést és hogyan kell értelmezni a
biztonsagi informaciékat/biztonsagi cimkéket.

Olvassa el a felvond/lancos szallité karbantartasi
és hibajavitasi el6irasokra vonatkozé karbantartasi
Gtmutatéjat.

A szallitdeszk6z tulajdonosa felel6s azért, hogy az
Osszeszerelési Gtmutatd mindig az érintett szereldk,
villanyszerel6k, karbantart6 technikusok és gépész
technikusok rendelkezésére alljon.

A VIGYAZAT!

¢ A lancos szallitd berendezés szerelése,
elektromos csatlakoztatasa, karbantartasa és
mikodtetése kdzben viseljen védbkeszty(it,
sisakot, acélkaplis bakancsot, fllvédét, védd
szemiiveget és lathatosagi mellényt.

Miel6tt barmilyen szerelési, elektromos
csatlakoztatasi vagy karbantartasi munkaba
kezdene, allitsa le a berendezést, és kapcsolja ki
a villamos energiat.

¢ Az elektromos berendezések csatlakoztatasat
szakképzett miiszerész végezze. Az elektronikara
vonatkozéan lasd a kiilon csatlakoztatasi
el6irasokat.

¢ Ne inditsa be a berendezést, ha a tetd,
nyilasfedelek, burkolatok, védélemezek és
csatlakozasok nem Ugy vannak felhelyezve, hogy
csak szerszam segitségével lehessen kinyitni
Oket.

SKANDIA ELEVATOR

FRA

Lire la notice de montage de I'élévateur/du convoyeur
sur la maniére de controler le matériel et d'interpréter les
consignes de sécurité/autocollants de sécurité.

Lire la notice d'entretien de I'élévateur/du convoyeur
pour les instructions sur I'entretien et la recherche de
pannes.

Il reléve de la responsabilité du propriétaire de
I'équipement de convoyage de tenir en permanence
cette notice a la disposition des monteurs, électriciens,
techniciens de maintenance et d'exploitation,
responsables de l'installation.

A AVERTISSEMENT !

» Porter des gants, un casque de construction, des
chaussures a embout d'acier, des protections
auditives, des lunettes de protection, et un gilet
de couleur réfléchissante pendant le montage,
le raccordement électrique, l'entretien et
I'exploitation des équipements de convoyage.

 Arréter la machine et couper I'alimentation avant
de procéder a une intervention de montage, de
raccordement électrique ou d'entretien.

L'équipement électrique doit étre connecté par
un électricien qualifié. Pour les instructions, se
reporter a la notice de connexion électronique
séparée.

Il est interdit de démarrer la machine sans que le
couvercle, les volets, les trémies, les protections
et les raccords soient installés de maniére a ce
que leur ouverture ne s'effectue qu'a I'aide d'un
outil.

NOR

Les monteringsinstruksjonene for elevatoren/
transportgren for veiledning om utfgring av godskontroll
og hvordan sikkerhetsinformasjon/sikkerhetsskilter skal
tolkes.

Lese vedlikeholdsinstruksjonen for elevatoren/
transportgren for retningslinjer og vedlikehold og
feilsgking.

Eieren av transportutstyret er ansvarlig for at
monteringsinstruksjonene alltid er tilgjengelig for
montgrer, elektrikere, vedlikeholdsteknikere og andre
teknikere.

A ADVARSEL!

* Bruk vernehansker, hjelm, vernesko, greklokker,
vernebriller og refleksvest ved utfaring av
monteringsarbeid, elektriske tilkoblinger,
vedlikehold og drift av transportgrutstyr.

¢ Stans maskinen og sla av strgmmen for
all montering, elektrisk tilkobling eller
vedlikeholdsarbeid.

 Alt elektrisk utstyr ma koples til av en kvalifisert
elektriker. Se egne retningslinjer for tilkobling av
elektronikk.

Ikke start maskinen uten at tak, luker, deksler,
vern og tilkoblinger er montert pa en slik mate at

de kun kan apnes med verktay.



POL

Przeczytaé instrukcje montazu podno$nika/przeno$nika,
gdzie zamieszczono informacje na temat sposobu
przeprowadzania kontroli towaru i interpretowania
informacji/naklejek dotyczacych bezpieczeristwa.

Przeczytaé instrukcje konserwacji podnosnika/
przenos$nika, gdzie zamieszczono informacje na temat
sposobu konserwacji oraz wykrywania i usuwania
usterek.

Wtasciciel urzgdzenia transportowego odpowiada za to,
by niniejsza instrukcja montazu byta zawsze dostepna
dla odpowiedzialnych monteréw, elektrykéw oraz
technikéw serwisu i utrzymania.

A OSTRZEZENIE!

¢ Podczas montazu, podtgczania instalacji
elektrycznej, konserwacji i eksploatacji
urzgdzenia transportowego uzywac rekawic
ochronnych, kasku, butéw ze stalowym noskiem,
nausznikow, okularéw ochronnych i kamizelki
odblaskowej w jaskrawym kolorze.

* Przed rozpoczeciem jakichkolwiek prac
montazowych, zwigzanych z podtgczeniem
instalacji elektrycznej lub konserwacyjnych
nalezy zatrzymaé urzadzenie i odtgczyé¢ zasilanie
elektryczne.

¢ Urzgdzenia elektryczne muszg zostaé
podtaczone przez wykwalifikowanego elektryka
posiadajgcego odpowiednie uprawnienia.
Odpowiednie instrukcje zamieszczono w
oddzielnej instrukcji podtaczenia ukiadow
elektronicznych.

Urzadzenia nie wolno uruchamia¢ bez pokryw,
drzwiczek, koszy, oston i potgczen, ktére muszg
by¢ zamontowane w taki sposéb, by mozna je
byto otworzyé wytacznie za pomoca narzedzi.

SLO

Precitajte si tento navod na montaz elevatora/
dopravnika, v ktorom je uvedeny spdsob vykonavania
kontroly tovaru a interpretacie bezpeénostnych
informacii/bezpeénostnych Stitkov.

Precitajte si tento navod na Gdrzbu elevatora/
dopravnika, v ktorom najdete uvedené pokyny tykajlice
sa Udrzby a rieSenia problémov.

Vlastnik prepravného zariadenia je zodpovedny za to, Ze
bude tento navod na montaz vzdy k dispozicii prisluSnym
montaznym pracovnikom, elektrikarom, adrzbarom a
technikom.

A VAROVANIE!

¢ Pri vykonavani montaze, elektrického zapajania,
(drzby a prevadzke dopravnika pouZivajte
ochranné rukavice, prilbu, obuv s ocelovou
Spickou, ochranu sluchu, ochranné okuliare a
reflexnd vestu.

 Zastavte stroj a vypnite elektrické napajanie pred
tym, ako sa pokdsite o akykolvek druh montaze,
elektrického zapajania alebo Udrzbarskych prac.

* VSetky elektrické zariadenia musi pripojit
kvalifikovany elektrikar. Pozrite si osobitny navod
na zapojenie elektroniky.

* Stroj nespustajte bez neupevnenych poklopov,
krytov, chranicov a pripojeni. Musia byt
pripevnené tak, aby sa dali otvorit len pomocou
nastrojov.

ROM

Cititi instructiunile de asamblare ale elevatorului/
transportorului pentru indrumari referitoare la realizarea
controlului bunurilor si @ modului in care trebuie
interpretate autocolantele cu informatii/pentru siguranta.

Cititi instructiunile de intretinere ale elevatorului/
transportorului pentru indicatii pentru intretinere si
depanare.

Proprietarul echipamentului de transport raspunde

de disponibilitatea acestor instructiuni de asamblare
pentru montatorii, electricienii, tehnicienii responsabili
cu intretinerea si tehnicienii responsabili cu ingineria
respectivi.

A AVERTIZARE!

* Folositi manusi de protectie, casca, bocanci cu
varf din otel, echipament de protectie a auzului
si vesta cu vizibilitate mare atunci cand realizati
asamblarea, conectarea electrica, intretinerea si
operarea transportorului.

* Oprisi utilajul si opriti alimentarea electrica
inainte de a incerca sa realizati orice operatie de
asamblare, conectare electrica sau intretinere.

» Toate echipamentele electrice vor fi conectate
de catre un electrician calificat. Vezi indicatiile
separate pentru conectare pentru elemente
electronice.

* Nu porniti echipamentul fara capac, trape,
capace, dispozitive de protectie si conexiuni
fixate astfel incat sa nu poata fi deschise decat
folosind unelte.

SKANDIA ELEVATOR



RUS

MpoynTainTe MHCTPYKLIMKU MO MOHTaXY HOpUK/
TpaHcnopTepa, B YaCTHOCTU, UHCTPYKLMK O TOM,

KaK 3TOT TOBap AOAXEH MPOBEPATLCA M KaK AOAXKHA
UHTEPMNPETUPOBaTLCA MHGOPMaLMA No 6e30nacHOCTU U
CUMBOAbI OMacHOCTH.

OTHOCHUTEABHO 0BCAYXMBAHUA U YCTPAHEHNS
HEeWCnpPaBHOCTE - NPOUTUTE UHCTPYKLMK MO
06CAYXMBAHWUIO HOPWUK/TPaHCMoPTEPa.

BnaaeneL, TpaHCMOpTHOrO 060pYAOBaHUS HeceT
OTBETCTBEHHOCTb 3@ TO, UTOObI 3TW MHCTPYKLMK MO
MOHTaXy BCEraa 6bIAM AOCTYMHbI AAA OTBETCTBEHHbIX
MOHTaXHWUKOB, IAEKTPUKOB, a TaKXe TEXHUKOB N0
06CAYXMBAHUIO U SKCMAYaTaLMK.

A NPEOYNPEXAEHUE!

* Bo BpemMs MOHTaxa, BbIMOAHEHUS SIAEKTPUUECKMX
MOAKAKOUEHUS, OBCAYXMBaAHWUA U IKCNIAyaTaLMK
TPAHCMOPTHbIX CPEACTB UCMOAL3YMTE 3aLUWTHbIE
nepyaTku, CTPOUTEAbHbIE Kacku, 6OTUHKK CO
CTaAbHbIMUW HOCKaMM, HayLLHWKK, 3aLUMUTHBIE OUYKK
W CBETOOTPaXatoLLME XUAETbI APKON CUTHAABHOM
OKpackHu.

¢ Mepea BbINOAHEHWEM AHOOBLIX MOHTaXHbIX PaborT,
INEKTPUUECKUX COEAMHEHUIA UAM PaboT no
06CAYXMBAHWIO OCTAHOBWUTE MALLMHY U OTKAOUKTE
NEKTPOMUTAHME.

* IneKTpUUeckoe 060pyA0BaHME AOAKHO
MOACOEAMHATLCA KBAaAUDULMPOBAHHBLIM
YNOAHOMOUEHHBLIM AEKTPUKOM. CM. yKazaHus
B OTA@AbHOW MHCTPYKLMK MO NMOAKAKOUEHUIO
SNEKTPOHUKU.

¢ MalLlu1Hy HeAb3q 3anyckaTb 6€3 KpblLeK, AOKOB,
060A0YEK, 3aLLMTHLIX IAEMEHTOB U COEAMHEHUN,
CMOHTUPOBAHHbIX TAKMM 00pa30M, UTo OHWU MOTYT
6bITb OTKPbITbl TOAbKO C NOMOLLbKO UHCTPYMEHTOB.

SKANDIA ELEVATOR

SPA

Lea las instrucciones de montaje del elevador/
transportador para las indicaciones de cémo debe
realizarse el control del equipo y de como debe
interpretarse la informacion de seguridad/las etiquetas
autoadhesivas con informacién sobre seguridad.

Lea las instrucciones de mantenimiento del elevador/
transportador para indicaciones sobre el mantenimiento
y la localizacion de averias.

El propietario del equipo transportador es responsable
de que estas instrucciones de montaje siempre estén
disponibles para los mecéanicos, electricistas y técnicos
de mantenimiento y de operacion responsables.

A jADVERTENCIA!

« Al realizar el montaje, las conexiones eléctricas,
el mantenimiento y la operacién del equipo
transportador utilice guantes protectores,
casco de obras de construccion, calzado con
proteccion de acero, proteccion auditiva, anteojos
protectores y chaleco reflectante con color de
sefalizacion.

¢ Detenga la maquina e interrumpa el paso de
la corriente eléctrica antes de realizar todo
tipo de tareas de montaje, conexion eléctrica o
mantenimiento.

¢ Todas las conexiones del equipo eléctrico debera
realizarlas un electricista autorizado. Para las
instrucciones vea las indicaciones separadas de
conexion de la electrénica.

¢ El equipo no debera ponerse en marcha sin
haber montado el techo, las escaotillas, las
campanas, las protecciones y conexiones de tal

modo que s6lo puedan abrirse con herramientas.

SWE

Las elevatorns/transportérens monteringsanvisning
for instruktioner om hur godskontroll ska goéras och hur
sakerhetsinformation/sakerhetsdekaler ska tolkas.

Las elevatorns/transportdérens skotselanvisning for
instruktioner om skétsel och felsdkning.

Agaren av transportutrustningen ansvarar fér att denna
monteringsanvisning alltid finns tillganglig fér ansvariga
montorer, elektriker, skoétsel- och drifttekniker.

A VARNING!

¢ Anvand skyddshandskar, bygghjalm, skor
med stalhatta, horselkapor, skyddsglaségon
samt signalfargad reflexvast vid montering,
elanslutning, skotsel och drift av
transportutrustningen.

¢ Stoppa maskinen och bryt strommen innan
nagon typ av monterings-, elanslutnings- eller
skotselarbete ska utforas.

Elektrisk utrustning ska anslutas av en
kvalificerad behorig elektriker. FOr instruktioner
se den separata anslutningsanvisningen for
elektronik.

Maskinen far inte startas utan att tak, luckor,
kupor, skydd och anslutningar &r monterade pa
sadant satt att de bara kan dppnas med verktyg.



Tx
B C
[ B [ ||
M8x16
U
[ o fo P
ﬁk_m o0
M8x16
0
o fo Bt
G
\
— |
o Db ,
M8x16
F e | ]
H | L M5x8 | |,
\
K MI10x20 /
\ ﬂ— . .
* T3 -}
M6x10 i I
\ L . r‘%;r/%
‘-ll . L e
c° : b \j}\ ‘
M8x16 =
M de M
% / M5x8
2 0l P
M10x20 Ll o
N

SKANDIA ELEVATOR



M10x20

/

SKANDIA ELEVATOR



2 CZE

Otacenim lopatek ventilatoru motoru posunte ozubenou
ty€ (H) pod hnaci hfidel (d).

Upozornénil! Vyrovnejte horni dvojici otvoru (X) na
ozubené ty€i (H) na pohonu a sestavu doasné
pripevnéte k sobé pomoci Sroubu.

DAN

Far tandkransen (H) under drivakslen (d) ved at dreje
motorens ventilatorblad rundt.

OBS! Centrer tandkransens (H) gverste hulpar med
hulparret (X) pa drivenheden (D) og hold midlertidigt
sammen med skrue.

DEU

Die Zahnstange (H) durch Drehen der MotorlUufterfligel
unter die Antriebswelle (d) bewegen.

NB! Das obere Lochpaar (X) auf der Zahnstange (H) am
Antrieb (D) zentrieren und mit einer Schraube temporar
befestigen.

ENG

Move the gear rack (H) under the drive shaft (d) by
rotating the motor fan blades.

NB! Centre the upper pair of holes (X) on the gear rack
(H) on drive (D) and fasten together temporarily with a
screw.

FIN

Siirra hammaslista (H) vetoakselin (d) alle kiertamalla
moottorin tuulettimen siipea.

HUOM! Keskita hammaslistan (H) ylin reikapari
kayttoyksikon (D) reikapariin (X) ja pida ne yhdessa
tilapaisesti ruuvin avulla.

FRA

Passer le jonc cranté (H) sous l'arbre de téte (d) en
faisant tourner la pale du ventilateur du moteur.

NOTE : Centrer les deux orifices supérieurs du

jonc cranté (H) sur les deux orifices (X) de l'unité
d'entrainement (D) et les maintenir provisoirement avec
des vis.

HUN

A motor ventillator lapatok forgatasaval allitsa a
fogaslécet (H) a hajtom( tengely (d) ala.

Figyelem! Allitsa kdzépre a fogaslécen (H) 1évé fels6
lyukpart (X) a hajtomdvon (D), és rogzitse ideiglenesen
egy csavarral.

NOR

Flytt utvekslingsoppsatsen (H) under drivakselen (D) ved
a dreie pa motorens vifteblad.

MERK! Sentrer gvre hullpar (X) pa utvekslingsoppsatsen
(H) pa drivdel (D) og fest dem til hverandre midlertidig
med en skrue.

POL

Przeprowadzic¢ listwe zebatg (H) pod watkiem
napedowym (D), obracajgc topatkami wentylatora silnika.

UWAGA! Ustawi¢ gorng pare otwordw listwy zebatej (H) w
jednej linii z parg otwordw (X) na jednostce napedowej i
przytrzymaé tymczasowo za pomoca Srub.

ROM

Deplasati cremaliera (H) sub axul de antrenare (d) prin
rotirea paletelor ventilatorului motorului.

Note! Centrati perechea superioara de orificii (X) de pe
cremaliera (X) pe actionarea (D) si fixati-le impreuna
temporar cu ajutorul unui surub.

RUS

MepemecTute 3ybuaTtyto peiiky (H) noa Baa npMBOAHOM
ceKkuunn (d), NpoBEPHYB AONACTU BEHTUAATOPA ABUraTeAS.

BHuMaHue: OTUEHTPUPYITE BEPXHIOKO Napy OTBEPCTUM
3ybuatoit periku (H) ¢ napoi otBepcTui (X) Ha NPUBOAHOM
6n0Ke (D) 1 BpeEMEHHO yAEpPXUBaTE BMECTE C MOMOLLbIO
BMHTA.

SLO

Posunte ozubnicu s prevodom (H) pod hnaci hriadel (d)
otacanim listov chladi¢a motora.

NB! Vycentrujte horny par otvorov (X) na ozubnici s
prevodom (H) na pohone (D) a doGasne utiahnite spolu
pomocou skrutky.

SPA

Desplace la moldura de cremallera (H) debajo del eje de
accionamiento (d) girando las palas del ventilador del
motor.

jAtencion! Centre el par de agujeros superior de
moldura con cremallera (H) con el par de agujeros (X)
en la unidad de accionamiento (D) y mantenga unido
temporalmente con tornillos.

SWE

For kugglisten (H) under drivaxeln (d) genom att vrida
runt motorns flaktblad.

OBS! Centrera kugglistens (H) 6versta halpar med
halparet (X) pa drivenheten (D) och hall ihop tillfalligt
med skruv.

SKANDIA ELEVATOR



SKANDIA ELEVATOR



CZE

Jakmile se skluz (N) nachazi ve spodni poloze,
namontujte ty¢e (M) na ozubenou ty¢ (H).

Upozornéni! Jednotku pohonu (D) smontujte v prislusné
vysce. Potom odSroubujte prozatimni Sroub mezi
jednotkou pohonu a ozubenou ty¢i.

DAN

Monter steengerne (M) pa tandkransen (H), nar spjeeldet
(N) er i nederste position.

OBS! Monter drivenheden (D) i den hgjde, hvor den
havner og afmonter derefter midlertidige skruer mellem
drivenheden og tandkransen.

DEU

Die Regulierstangen (M) auf der Zahnstange (H)
montieren, wenn der Schieber (N) in seiner unteren
Stellung ist.

NB! Die Antriebseinheit (D) in der erforderlichen Hohe
montieren und anschlieend die temporare Schraube
zwischen der Antriebseinheit und der Zahnstange
entfernen.

ENG

Assemble rods (M) on to the gear rack (H) when slide (N)
is in its bottom position.

NB! Assemble drive unit (D) at the height it takes and
then remove the temporary screw between the drive unit
and the gear rack.

FIN

Asenna tangot (M) hammaslistaan (H), kun pelti (N) on
alimmassa asennossaan.

HUOM! Kiinnita kayttoyksikko (D) sille korkeudelle johon
se asettuu ja poista sitten tilapainen ruuvi kayttoyksikon
ja hammaslistan valilta.

FRA

Poser les tiges (M) sur le jonc cranté (H) lorsque la
glissiére (N) se trouve dans sa position la plus basse.

NOTE : Monter I'unité d'entrainement (D) a la hauteur
appropriée, puis enlever les vis temporaires entre |'unité
d'entrainement et le jonc rainuré.

HUN

Szerelje fel a szabalyozé rudakat (M) a fogaslécre (H),
amikor a tolézar (N) als6 allasban van.

Figyelem! Szerelje fel a hajtéegységet (D) a megfeleld
magassagra, majd vegye ki a hajtbegységet és a
fogaslécet dsszefogb ideiglenes csavart.

NOR

Monter stengene (M) pa utvekslingsoppsatsen (H) nar
spjeldet (N) star i nederste stilling.

MERK! Monter drivdel (D) i ngdvendig hgyde og fjern
sa den midlertidige skruen mellom drivenheten og
utvekslingsoppsatsen.

POL

Zamontowac prety (M) na listwie zebatej (H), gdy zasuwa
(N) znajduje sie w swoim najnizszym potozeniu.

UWAGA! Zamontowa¢ jednostke napedowa (D) na
wysokosci, na ktérej sie znajdzie, a nastepnie usunaé
tymczasowe $ruby miedzy jednostka napedows a listwg
zebata.

ROM

Asambilati tijele (M) pe cremaliera (H) cand sibarul (N) se
afla in pozitia inferioara.

Note! Asamblati unitatea de antrenare (D) la Thaltimea
necesara si apoi demontati surubul temporar dintre
unitatea de antrenare si cremaliera.

RUS

YctaHoBuTe WTaHrv (M) Ha 3ybuartyto peiky (H), koraa
3acnoHKa (N) HaxoAUTCSt B KpaHEM HUXHEM MOAOXKEHUM.

BHUMaHWe: CMOHTUPYIiTe NPUBOAHOM BAOK Ha ero Bbicote
U 3aTeM yAaAUTE BPEMEHHbIN BUHT MEXAY NPUBOAHBIM
6A0KOM U 3ybuaTon penKkomn.

SLO

Namontujte ty¢e (M) na ozubnicu s prevodom (H), ked' je
uzaver (H) v spodnej polohe.

POZOR! Pohonnd jednotku (D) namontujte v takej vySke,
aby zabrala a potom odstrante do¢asny skrutkovy spoj
medzi pohonnou jednotkou a ozubnicou s prevodom.

SPA

Monte las barras (M) en la moldura de cremallera (H)
cuando la compuerta (N) esté en su posicion mas
inferior.

jAtencion! Monte la unidad de accionamiento (D) a

la altura en la que quede colocada, y retire luego los
tornillos temporales entre la unidad de accionamiento y
la moldura de cremallera.

SWE

Montera sténgerna (M) pa kugglisten (H) nar spjallet (N)
ar i sitt nedersta lage.

OBS! Montera drivenheten (D) pa den héjd den hamnar
och ta darefter bort tillfalliga skruv mellan drivenhet och
kugglist.

SKANDIA ELEVATOR



M10x20

./I °

77

==

L

SKANDIA ELEVATOR



CZE

Upozornéni! Spodni indikace dorazu (F) je namontovana
tak, Ze pfi otevieném skluzu doseda k hornimu snimaci
(X). Skluz se nesmi otevrit tak, aby vypadl z vodiciho
plechu (n).

/\ VAROVANI!
Namontujte kryt (A) pfimo nad kapotu (E).

DAN

OBS! Nedre stopindikatoren (F) monteres, sa den
aktiverer den gvre fgler (X), nar spjeeldet er helt dbent.
Kontroller, at spjaeldet ikke kan dbnes sa meget, at det
kgrer ud af sporpladen (n).

/\ ADVARSEL!
Monter beskyttelsen (A) direkte oven for heetten

(E).
DEU

NB! Die untere Anschlagmarkierung (F) wird so montiert,
dass sie am oberen Sensor (X) anliegt, wenn der
Schieber offen ist. Sicherstellen, dass der Schieber
nicht so weit gedffnet werden kann, dass er aus der
FUhrungsplatte (E) austritt.

/\ WARNUNG!
Abdeckung (A) direkt Uber der Haube (E)
montieren.

ENG

NB! The lower stop flag (F) is fitted so that it abuts the
upper sensor (X) when the slide is open. Ensure the slide
cannot be opened enough for it to come out of the guide
plate (n).

/\ WaARNING!
Fit guard (A) directly above the hood (E).

FIN

HUOM! Alempi pysaytyslippu (F) asennetaan siten, etta
se ottaa kayttoon ylemman anturin (X), kun lappa on
taysin auki. Varmista, etta lappa ei voi avautua niin
paljon, etta se siirtyy pois urapellista (n).

/\ varoITUS!
Asenna suojus (A) suoraan konepellin (E) paalle.

FRA

NOTE : L'indicateur d'arrét inférieur (F) est monté de
maniére a actionner le capteur supérieur (X) lorsque la
glissiére est complétement ouverte. Veiller a empécher
I'ouverture de la glissiére au point de sortir de la plaque
rainurée (n).

/\ AVERTISSEMENT !
Poser la protection (A) directement au-dessus du
capot (E).

HUN

Figyelem! Az als6 végallas zaszI6 (F) Ggy van felszerelve,
hogy ha a tol6zar nyitva van, a zaszl6 érinti a fels6
érzékeldt (X). Ellendrizze, hogy a tol6zarat nem lehet
annyira kinyitni, hogy kijojjon a vezetélemezbdl (n).

/\ vigyAzam
lllessze a véddlemezt (A) kdzvetleniil a burkolat (E)
folé.

NOR

MERK! Det nederste stoppflagget (F) er montert slik at
det grenser opp mot gverste faler (X) nar spjeldet er
apent. Pass pa at spjeldet ikke kan apnes nok til at det
kommer ut av styreplaten (E).

/\ ADVARSEL!
Monter beskyttelse like over panseret (E).

POL

UWAGA! Dolny znacznik zatrzymania (F) zamontowaé w
taki sposéb, by uruchamiat gérny czujnik (X), gdy zasuwa
jest catkowicie otwarta. Zagwarantowagé, by zasuwy

nie dato sie otworzy¢ w stopniu umozliwiajgcym jej
wysuniecie sie z ptyty z prowadnicami (N).

/\ OSTRZEZENIE!
Zamontowac¢ zabezpieczenie (A) bezposSrednio nad
ostong (E).

ROM

Note! Steagul de oprire inferior (F) este fixat asa incat
sa se invecineze cu senzorul superior (X) cand sibarul
este deschis. Asigurati-va ca sibarul nu poate fi deschis
suficient asa incat acesta sa cada de pe placa de ghidaj

(n).

/\ AVERTIZARE!
Fixati dispozitivul de protectie (A) direct deasupra
capotei (E).

RUS

NMPUMEYAHUE: HuxHMI ocTaHOBOYHLIN dAaar (F)
MOHTUPYETCS Tak, UTO OH 3aAENCTBYET BEPXHWUM AGTUMK
(X), KOrAa 3aCAOHKa NMOAHOCTbIO OTKPbITa. YOEeAUTECH, UTO
3aABMXKA HE MOXET OTKPbIBATbCA HACTOALKO, YTO OHa
BbIBOAMT MAACTUHY (N).

/\ nPEDYNPEXOEHME!
CMOHTUpY#HTE 3aLuunTy (A) HENOCPEACTBEHHO HaA
kanotom (E).

SLO

POZOR! Spodny stopnik (F) je namontovany tak, aby
sa dotykal vrchného snimaca (X), ked sa uzaver otvori.
Zabezpecte, aby sa uzaver nemohol otvorit dostatoéne
na to, aby mohol vyjst z vodiacej dosky (n).

/\ VAROVANIE!

Namontujte chranic¢ (A) priamo nad kryt (E).

SPA

ijAtencion! La bandera de parada inferior (F) se montara
de manera que quede aplicada contra el transductor
superior (X) cuando la compuerta esté completamente
abierta. Cerciorese de que la compuerta no pueda
abrirse en un grado tal que se salga de la placa ranurada
(n).

/\ |ADVERTENCIA!

Montar la proteccion (A) inmediatamente encima
de la cubierta (E).

SWE

OBS! Nedre stoppflaggan (F) monteras sa att den
ansatter dvre givaren (X) nar spjallet ar helt 6ppen.
Séakerstall att spjallet inte kan 6ppnas sa mycket att den
aker ur sparplaten (n).

/\ VARNING!
Montera skyddet (A) direkt
ovanfor huven (E).

SKANDIA ELEVATOR



M8x16

i

™

@) o'
]

CL 1\

Faa Foa [ gl

A o 2 o

[}

o 00

= M6x10
i — F

/L

//%;egf
|

I?j

=
o o o o o < <o <o <o <o <o <o < o o <o

|

SKANDIA ELEVATOR




5

M8x16 b

M8x16 :;_

M8x16 | X

Ly

AL
0

.
=X

1 ]i}o

— O °'7

i

J

SE 140 & SEl1 35/14
e Lrj//J

/

I

Ay

SKANDIA ELEVATOR



SKANDIA ELEVATOR

o /

SEI/SEH 50/23

o
/J
-
ﬂfh—/*:ﬁl\:\SXS
g 3

Y
[\
N
| =




>

SKANDIA
ELEVATOR

SKANDIA ELEVATOR AB
KEDUMSVAGEN 14, ARENTORP | PHONE +46 (0)512 79 70 00 INFO@SKANDIA-ELEVATOR.SE
S-534 94 VARA, SWEDEN FAX +46 (0)512 134 00 WWW.SKANDIA-ELEVATOR.SE



